

Research Article

On Global Periodicity of a Class of Difference Equations

Stevo Stević

Received 16 October 2006; Revised 6 December 2006; Accepted 11 December 2006

We show that the difference equation $x_n = f_3(x_{n-1})f_2(x_{n-2})f_1(x_{n-3})$, $n \in \mathbb{N}_0$, where $f_i \in C[(0, \infty), (0, \infty)]$, $i \in \{1, 2, 3\}$, is periodic with period 4 if and only if $f_i(x) = c_i/x$ for some positive constants c_i , $i \in \{1, 2, 3\}$ or if $f_i(x) = c_i/x$ when $i = 2$ and $f_i(x) = c_i x$ if $i \in \{1, 3\}$, with $c_1 c_2 c_3 = 1$. Also, we prove that the difference equation $x_n = f_4(x_{n-1})f_3(x_{n-2})f_2(x_{n-3})f_1(x_{n-4})$, $n \in \mathbb{N}_0$, where $f_i \in C[(0, \infty), (0, \infty)]$, $i \in \{1, 2, 3, 4\}$, is periodic with period 5 if and only if $f_i(x) = c_i/x$, for some positive constants c_i , $i \in \{1, 2, 3, 4\}$.

Copyright © 2007 Stevo Stević. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

The study of the periodic character of solutions of rational and nonlinear difference equations has recently attracted attention; see, for example, [1–12] and the references therein. For some classical results see [13–17].

Definition 1.1. Let f be a real valued function defined on a subset of \mathbb{R}^n . Say that the difference equation

$$x_n = f(x_{n-1}, \dots, x_{n-k}), \quad n \in \mathbb{N}_0, \quad (1.1)$$

where $k \in \mathbb{N}$, is *periodic* if every solution of (1.1) is periodic.

It is easy to see that every solution of the difference equation

$$x_n = \frac{C}{x_{n-1}x_{n-2} \cdots x_{n-k}}, \quad n \in \mathbb{N}_0, \quad (1.2)$$

is periodic with period $(k + 1)$.

2 Discrete Dynamics in Nature and Society

We also know that every solution of the difference equation

$$x_n = \frac{x_{n-1} \cdots x_{n-(2k+1)}}{x_{n-2} x_{n-4} \cdots x_{n-2k}}, \quad n \in \mathbb{N}_0, \quad (1.3)$$

is periodic with period $2k + 2$. Indeed, from (1.3) it follows that

$$x_n x_{n-2} \cdots x_{n-2k} = 1, \quad n \in \mathbb{N}_0. \quad (1.4)$$

Using the changes $y_n = x_{2n}$ and $z_n = x_{2n+1}$, the last equation is reduced to (1.2), from which the statement follows.

In [18] we studied the global periodicity of (1.1) with $k = 2$. Among other results it was proved that if f separates the variables, that is, if

$$f(x, y) = f_2(x) f_1(y), \quad (1.5)$$

then every solution of (1.1) is periodic with period 3 if and only if $f(x, y) = c/xy$ where c is a positive constant.

Motivated by the method used in paper [18], in this paper we investigate the global periodicity of the positive solutions of the difference equation

$$x_n = f_k(x_{n-1}) \cdots f_1(x_{n-k}), \quad n \in \mathbb{N}_0, \quad (1.6)$$

where $k \in \{3, 4\}$, $f_i \in C[(0, \infty), (0, \infty)]$, $i = 1, \dots, k$.

We prove the following result.

THEOREM 1.2. *Consider (1.6). Then the following statements hold true.*

- (a) *Assume that $k = 3$. Then, every positive solution of (1.6) is periodic with period 4 if and only if $f_i(x) = c_i/x$, for some positive constants c_i , $i \in \{1, 2, 3\}$, or if $f_i(x) = c_i/x$, when $i = 2$ and $f_i(x) = c_i x$ if $i \in \{1, 3\}$, with $c_1 c_2 c_3 = 1$.*
- (b) *Assume that $k = 4$. Then, every positive solution of (1.6) is periodic with period 5 if and only if $f_i(x) = c_i/x$, for some positive constants c_i , $i \in \{1, 2, 3, 4\}$.*

2. Auxiliary results

Before we give a proof of Theorem 1.2, we will prove some auxiliary results which are incorporated in the following lemmas. We say that for a mapping $f : X \rightarrow X$, $(f^{[p]})_{p \in \mathbb{N} \cup \{0\}}$ denotes the sequence of iterates of f , that is, $f^{[0]} = I$, the identity function on X , $f^{[1]} = f$ and generally $f^{[p+1]} = f \circ f^{[p]}$ for any $p \in \mathbb{N}$.

The following lemma is folklore and can be found, for example, in [19] (see also [20]). We give a proof of the lemma for the benefit of the reader.

LEMMA 2.1. *Assume that $f : I \rightarrow I$ is a continuous function on the open (or closed) interval $I \subset \mathbb{R}$ satisfying the equation*

$$f^{[p]}(x) = x, \quad x \in I, \tag{2.1}$$

for some $p \in \mathbb{N}$. Then $f(x) \equiv x, x \in I$ or $f^{[2]}(x) = x$.

Proof. Assume that $f \in C[I, I]$ is such that $f^{[p]}(x) = x$ for every $x \in I$. Then, if $f(x) = f(y)$, it follows that

$$x = f^{[p]}(x) = f^{[p]}(y) = y \tag{2.2}$$

which implies that the function f must be 1 – 1. Since f is a continuous function, we have that f must be strictly monotone.

First assume that f is strictly increasing. If there is a point $x_0 \in I$ such that $x_0 < f(x_0)$, then by the monotonicity of f we have

$$x_0 < f(x_0) < f^{[2]}(x_0) < \dots < f^{[p]}(x_0) = x_0 \tag{2.3}$$

which is a contradiction. If $x_0 > f(x_0)$, then we have

$$x_0 > f(x_0) > f^{[2]}(x_0) > \dots > f^{[p]}(x_0) = x_0 \tag{2.4}$$

arriving again at a contradiction.

From this it follows that $f(x) = x$ for every $x \in I$.

Assume now that f is strictly decreasing. Then the function $g(x) = f^{[2]}(x)$ is strictly increasing and according to the first case we have that

$$g^{[p]}(x) = (f^{[2]})^{[p]}(x) = (f^{[p]})^{[2]}(x) = x \circ x = x, \tag{2.5}$$

that is, $f^{[2]}(x) \equiv x$, finishing the proof of the lemma. □

LEMMA 2.2. *Assume that f is a decreasing continuous function which maps the interval $(0, \infty)$ into itself, and satisfies the following conditions*

$$\begin{aligned} \lim_{z \rightarrow +0} f(z) = \infty, \quad \lim_{z \rightarrow \infty} f(z) = 0, \\ f(z)f\left(\frac{1}{z}\right) = 1, \quad z \in (0, \infty), \end{aligned} \tag{2.6}$$

$$f(z) = f^{-1}(z) \quad z \in (0, \infty). \tag{2.7}$$

Then $f(z) = 1/z$.

4 Discrete Dynamics in Nature and Society

Proof. Assume that $f(z) \neq 1/z$, $z \in (0, \infty)$, then there is a $z_0 \in (0, \infty)$ such that $f(z_0) > 1/z_0$ or $f(z_0) < 1/z_0$. From (2.6) and positivity of the function f it follows that $f(1) = 1$. Hence $z_0 \neq 1$.

First, assume that $f(z_0) > 1/z_0$ and $z_0 < 1$. From this and (2.6) it follows that

$$f\left(\frac{1}{z_0}\right) = \frac{1}{f(z_0)} < z_0 < 1 < \frac{1}{z_0} < f(z_0). \quad (2.8)$$

On the other hand, the point $(f(1/z_0), 1/z_0)$ belongs to the graph of the curve $y = f(z)$, since f is self-invertible. Hence the points $(f(1/z_0), 1/z_0)$, $(1, 1)$, and $(z_0, f(z_0))$ belong to the graph of the curve $y = f(z)$. We know that f is decreasing and from (2.8) we have $f(1/z_0) < z_0 < 1$, thus we obtain $f(f(1/z_0)) > f(z_0) > f(1)$, that is, $1/z_0 > f(z_0) > 1$. The last statement contradicts (2.8).

Now, assume that $f(z_0) > 1/z_0$, $1 < z_0$, and $f(z_0) < 1$. Note that the points $(1/z_0, f(1/z_0))$, $(1, 1)$, and $(f(z_0), z_0)$ are on the graph of f . Since $1/z_0 < f(z_0) < 1$ and f is decreasing it follows that $f(1/z_0) > f(f(z_0)) > f(1)$, that is, $1/f(z_0) > z_0 > 1$, which is a contradiction.

Assume that $f(z_0) > 1/z_0$, $1 < z_0$ and $f(z_0) > 1$. In the case the points $(z_0, f(z_0))$, $(1, 1)$ and $(f(z_0), z_0)$ are on the graph of f . If $1 < z_0 < f(z_0)$, then we obtain that $1 > f(z_0) > z_0$, a contradiction. If $1 < f(z_0) \leq z_0$, then it follows that $1 > z_0 \geq f(z_0)$, which is again a contradiction.

The case $f(z_0) < 1/z_0$ can be treated similarly so we omit the proof of this part of the lemma. \square

3. Proof of the main result

In this section we give a proof of Theorem 1.2. Before this we present some formulae which are of some interest not only for these two cases in Theorem 1.2, but also for all $k \geq 3$.

Hence, assume that all positive solutions of (1.1) are periodic with period $(k + 1)$. Then for every $x_1, \dots, x_k \in (0, \infty)$ we have that the following system of functional relationships holds:

$$\begin{aligned} u &= f_k(x_k) f_{k-1}(x_{k-1}) \cdots f_2(x_2) f_1(x_1), \\ x_1 &= f_k(u) f_{k-1}(x_k) \cdots f_2(x_3) f_1(x_2), \\ x_2 &= f_k(x_1) f_{k-1}(u) \cdots f_2(x_4) f_1(x_3), \\ &\vdots \\ x_k &= f_k(x_{k-1}) f_{k-1}(x_{k-2}) \cdots f_2(x_1) f_1(u). \end{aligned} \quad (3.1)$$

From (3.1) it follows that

$$\begin{aligned}
 x_1 &= f_k \left(\prod_{j=1}^k f_j(x_j) \right) f_{k-1}(x_k) \cdots f_2(x_3) f_1(x_2), \\
 x_2 &= f_k(x_1) f_{k-1} \left(\prod_{j=1}^k f_j(x_j) \right) \cdots f_2(x_4) f_1(x_3), \\
 x_3 &= f_k(x_2) f_{k-1}(x_1) f_{k-2} \left(\prod_{j=1}^k f_j(x_j) \right) \cdots f_2(x_5) f_1(x_4), \\
 &\vdots \\
 x_{k-1} &= f_k(x_{k-2}) f_{k-1}(x_{k-3}) \cdots f_2 \left(\prod_{j=1}^k f_j(x_j) \right) f_1(x_k), \\
 x_k &= f_k(x_{k-1}) f_{k-1}(x_{k-2}) \cdots f_2(x_1) f_1 \left(\prod_{j=1}^k f_j(x_j) \right).
 \end{aligned} \tag{3.2}$$

In each of the k equations in (3.2) we choose that all variables, except the j th which is arbitrary, are equal to 1, and use the changes

$$g_j(x) = f_j(x) \prod_{i=1, i \neq j}^k f_i(1), \quad j = 1, \dots, k. \tag{3.3}$$

Then, we obtain

$$\begin{aligned}
 g_k(g_1(z)) &= z, \quad g_k(g_j(z))g_{j-1}(z) = C, \quad 2 \leq j \leq k; \\
 g_{k-1}(g_1(z))g_k(z) &= C, \quad g_{k-1}(g_2(z)) = z, \quad g_{k-1}(g_j(z))g_{j-2}(z) = C, \quad 3 \leq j \leq k; \\
 g_{k-2}(g_j(z))g_{j+k-2}(z) &= C, \quad j = 1, 2, \\
 g_{k-2}(g_3(z)) = z, \quad g_{k-2}(g_j(z))g_{j-3}(z) &= C, \quad 4 \leq j \leq k; \\
 &\vdots \\
 g_2(g_j(z))g_{j+2}(z) &= C, \quad 1 \leq j \leq k-2, \quad g_2(g_{k-1}(z)) = z, \quad g_2(g_k(z))g_1(z) = z, \\
 g_1(g_j(z))g_{j+1}(z) &= C, \quad 1 \leq j \leq k-1, \quad g_1(g_k(z)) = z,
 \end{aligned} \tag{3.4}$$

where $C = \prod_{i=1}^k f_i(1)$.

From (3.4) it follows that

$$g_j \circ g_{k+1-j}(z) = z, \quad j = 1, \dots, k, \tag{3.5}$$

$$g_j \circ g_i(z) = g_i \circ g_j(z), \tag{3.6}$$

if $i \neq j$ and $i + j \neq k + 1$, and

$$\begin{aligned} g_k^2(z)g_{k-1}(z) = C, & \quad g_{k-1}^2(z)g_{k-3}(z) = C, & \quad g_{k-2}^2(z)g_{k-5}(z) = C, \\ & \quad \vdots \\ g_2^2(z)g_4(z) = C, & \quad g_1^2(z)g_2(z) = C. \end{aligned} \tag{3.7}$$

Proof of Theorem 1.2. The sufficiency part of the theorem follows from (1.3) and (1.2). Hence, we need only prove the necessity.

First, assume that $k = 3$. Then (3.5)–(3.7) are

$$\begin{aligned} g_3(g_1(z)) = z, & \quad g_3(g_2(z))g_1(z) = C, & \quad g_3(g_3(z))g_2(z) = C, \\ g_2(g_1(z))g_3(z) = C, & \quad g_2(g_2(z)) = z, & \quad g_2(g_3(z))g_1(z) = C, \\ g_1(g_1(z))g_2(z) = C, & \quad g_1(g_2(z))g_3(z) = C, & \quad g_1(g_3(z)) = z. \end{aligned} \tag{3.8}$$

From (3.8) we have

$$g_1(g_3(z)) = g_3(g_1(z)) = z, \quad g_2(g_2(z)) = z, \tag{3.9}$$

which implies that

$$g_3(z) = g_1^{-1}(z), \quad g_2(z) = g_2^{-1}(z), \tag{3.10}$$

and that the functions g_1 , g_2 , and g_3 map the interval $(0, \infty)$, “ $1 - 1$ ” and onto itself.

Further, from the third and seventh identity in (3.8) we have that

$$g_1(g_1(z)) = g_3(g_3(z)). \tag{3.11}$$

From (3.10) and (3.11) it follows that

$$g_1^{[4]}(z) = z. \tag{3.12}$$

Lemma 2.1 implies that

$$g_1(z) = z \quad \text{or} \quad g_1^{[2]}(z) = z. \tag{3.13}$$

If $g_1(z) = z$, then (3.10) implies $g_3(z) = z$, from this and the second identity in (3.8) we obtain that $g_2(z) = C/z$. Hence, the equation becomes

$$x_n = C \frac{x_{n-1}x_{n-3}}{x_{n-2}}. \tag{3.14}$$

By some simple calculations it is shown that C must be equal to 1 in order that all solutions of the equation are periodic with period four, from which the result follows in this case.

If $g_1^{[2]}(z) = z$, then

$$g_1(z) = g_1^{-1}(z). \tag{3.15}$$

Equations (3.10) and (3.15) imply that $g_1 = g_3$. From this and the sixth identity in (3.8) it follows that

$$g_2(g_1(z)) = \frac{C}{g_1(z)} \tag{3.16}$$

and by the change $g_1(z) \rightarrow z$, we have that

$$g_2(z) = \frac{C}{z}. \tag{3.17}$$

Substituting (3.17) into the eight identity in (3.8) we obtain

$$g_1(z)g_1\left(\frac{C}{z}\right) = C. \tag{3.18}$$

Using the change $h_1(z) = (1/\sqrt{C})g_1(\sqrt{C}z)$ we see that the function h_1 satisfies the following relationships:

$$h_1(z)h_1\left(\frac{1}{z}\right) = 1, \quad h_1(z) = h_1^{-1}(z). \tag{3.19}$$

From this we see that the function h_1 satisfies the conditions of Lemma 2.2, which implies that $h_1(z) = 1/z$. Hence $g_1(z) = C/z$ and consequently

$$g_3(z) = \frac{C}{z}, \quad g_2(z) = \frac{C}{z}, \tag{3.20}$$

form which the result follows.

Assume now that $k = 4$. Then (3.5)–(3.7) are

$$\begin{aligned} g_4(g_1(z)) = z, & \quad g_4(g_2(z))g_1(z) = C, & \quad g_4(g_3(z))g_2(z) = C, & \quad g_4(g_4(z))g_3(z) = C, \\ g_3(g_1(z))g_4(z) = C, & \quad g_3(g_2(z)) = z, & \quad g_3(g_3(z))g_1(z) = C, & \quad g_3(g_4(z))g_2(z) = C, \\ g_2(g_1(z))g_3(z) = C, & \quad g_2(g_2(z))g_4(z) = C, & \quad g_2(g_3(z)) = z, & \quad g_2(g_4(z))g_1(z) = C, \\ g_1(g_1(z))g_2(z) = C, & \quad g_1(g_2(z))g_3(z) = C, & \quad g_1(g_3(z))g_4(z) = C, & \quad g_1(g_4(z)) = z. \end{aligned} \tag{3.21}$$

From (3.21) we have

$$g_1(g_4(z)) = g_4(g_1(z)) = z, \quad g_2(g_3(z)) = g_3(g_2(z)) = z, \tag{3.22}$$

which implies

$$g_4(z) = g_1^{-1}(z), \quad g_3(z) = g_2^{-1}(z), \tag{3.23}$$

8 Discrete Dynamics in Nature and Society

and consequently that the functions $g_1, g_2, g_3,$ and g_4 map the interval $(0, \infty)$, “ $1 - 1$ ” and onto itself. Also, we have

$$g_i(g_j(z)) = g_j(g_i(z)), \quad \text{when } i + j \neq 5, i \neq j, \quad (3.24)$$

$$\begin{aligned} g_4(g_4(z))g_3(z) = C, & \quad g_3(g_3(z))g_1(z) = C, \\ g_2(g_2(z))g_4(z) = C, & \quad g_1(g_1(z))g_2(z) = C. \end{aligned} \quad (3.25)$$

From (3.24) and (3.25), it follows that

$$g_4^{[2]} \circ g_2(z) = g_3^{[2]} \circ g_4(z) = g_2^{[2]} \circ g_1(z) = g_1^{[2]} \circ g_3(z) = \frac{C}{z}. \quad (3.26)$$

From (3.24) and (3.26), it follows that

$$g_3^{[3]}(z) = g_4(z), \quad g_4^{[3]}(z) = g_2(z), \quad g_1^{[3]}(z) = g_3(z), \quad g_2^{[3]}(z) = g_1(z). \quad (3.27)$$

For example, if we replace in the first equality in (3.26) z by $g_3(z)$ and use (3.22) and (3.24), we obtain

$$g_4^{[2]}(z) = g_4^{[2]} \circ g_2 \circ g_3(z) = g_3^{[2]} \circ g_4 \circ g_3(z) = g_3^{[3]} \circ g_4(z), \quad (3.28)$$

from which it follows that

$$g_3^{[3]}(z) = g_4(z). \quad (3.29)$$

Using (3.27), we obtain that

$$g_i^{[81]}(z) = g_i(z), \quad i \in \{1, 2, 3, 4\}, \quad (3.30)$$

and consequently

$$g_i^{[80]}(z) = z, \quad i \in \{1, 2, 3, 4\}. \quad (3.31)$$

By Lemma 2.1, we have that

$$g_i(z) = z \quad \text{or} \quad g_i^{[2]}(z) = z. \quad (3.32)$$

If $g_1(z) = z$, then $g_4(z) = z$. From this and the fourth equality in (3.21), it follows that

$$g_3(z) = \frac{C}{z}. \quad (3.33)$$

On the other hand, from (3.33) and the seventh equality in (3.21), it follows that

$$g_3\left(\frac{C}{z}\right) = \frac{C}{z}, \quad (3.34)$$

which implies that $g_3(z) = z$, a contradiction. Similar, if $g_i(z) = z$ for some $i \in \{2, 3, 4\}$, we obtain a contradiction.

Hence, $g_i^{[2]}(z) = z$, for every $i \in \{1, 2, 3, 4\}$. From this and (3.25) it follows that

$$g_1(z) = g_2(z) = g_3(z) = g_4(z) = \frac{C}{z}, \tag{3.35}$$

finishing the proof of the theorem. □

Remark 3.1. We believe that Theorem 1.2 can be extended in a natural way for every $k \geq 2$, and that the proof of the corresponding result can be obtained by some modifications of the proof of Theorem 1.2. We leave the solution of the problem to the reader.

References

- [1] L. Berg, “Nonlinear difference equations with periodic coefficients,” *Rostocker Mathematisches Kolloquium*, no. 61, pp. 13–20, 2006.
- [2] M. Csörnyei and M. Laczkovich, “Some periodic and non-periodic recursions,” *Monatshefte für Mathematik*, vol. 132, no. 3, pp. 215–236, 2001.
- [3] R. L. Graham, D. E. Knuth, and O. Patashnik, *Concrete Mathematics*, Addison-Wesley, Reading, Mass, USA, 1989.
- [4] B. D. Iričanin and S. Stević, “Some systems of nonlinear difference equations of higher order with periodic solutions,” *Dynamics of Continuous, Discrete & Impulsive Systems. Series A*, vol. 13, no. 3-4, pp. 499–507, 2006.
- [5] G. Karakostas, “Asymptotic 2-periodic difference equations with diagonally self-invertible responses,” *Journal of Difference Equations and Applications*, vol. 6, no. 3, pp. 329–335, 2000.
- [6] H. Li and X. Yang, “A note on discrete-time dynamical systems under periodic perturbation,” *Discrete Dynamics in Nature and Society*, vol. 2006, Article ID 84697, 5 pages, 2006.
- [7] S. Stević, “A global convergence results with applications to periodic solutions,” *Indian Journal of Pure and Applied Mathematics*, vol. 33, no. 1, pp. 45–53, 2002.
- [8] S. Stević, “A note on periodic character of a difference equation,” *Journal of Difference Equations and Applications*, vol. 10, no. 10, pp. 929–932, 2004.
- [9] S. Stević, “Periodic character of a difference equation,” *Rostocker Mathematisches Kolloquium*, no. 59, pp. 3–10, 2005.
- [10] S. Stević, “A note on periodic character of a higher order difference equation,” *Rostocker Mathematisches Kolloquium*, no. 61, pp. 21–30, 2006.
- [11] S.-E. Takahasi, Y. Miura, and T. Miura, “On convergence of a recursive sequence $x_{n+1} = f(x_{n-1}, x_n)$,” *Taiwanese Journal of Mathematics*, vol. 10, no. 3, pp. 631–638, 2006.
- [12] L.-L. Wang and W.-T. Li, “Existence and global attractivity of positive periodic solution for an impulsive delay population model,” *Dynamics of Continuous, Discrete & Impulsive Systems. Series A. Mathematical Analysis*, vol. 12, no. 3-4, pp. 457–468, 2005.
- [13] L. Berg and L. von Wolfersdorf, “On a class of generalized autoconvolution equations of the third kind,” *Zeitschrift für Analysis und ihre Anwendungen*, vol. 24, no. 2, pp. 217–250, 2005.
- [14] R. P. Kurshan and B. Gopinath, “Recursively generated periodic sequences,” *Canadian Journal of Mathematics*, vol. 26, pp. 1356–1371, 1974.
- [15] R. C. Lyness, “Notes 1581,” *The Mathematical Gazette*, vol. 26, p. 62, 1942.
- [16] R. C. Lyness, “Notes 1847,” *The Mathematical Gazette*, vol. 29, p. 231, 1945.
- [17] R. C. Lyness, “Notes 2952,” *The Mathematical Gazette*, vol. 45, p. 201, 1961.

- [18] K. Berenhaut and S. Stević, “The behaviour of the positive solutions of the difference equation $x_n = f(x_{n-2})/g(x_{n-1})$,” to appear in *Dynamics of Continuous Discrete and Impulsive Systems: Series A - Mathematical Analysis*.
- [19] Ya. S. Brodskii and A. K. Slipenko, *Functional Equations*, Vishcha Shkola, Kiev, Ukraine, 1983.
- [20] A. Cima, A. Gasull, and V. Mañosa, “Global periodicity and complete integrability of discrete dynamical systems,” *Journal of Difference Equations and Applications*, vol. 12, no. 7, pp. 697–716, 2006.

Stevo Stević: Mathematical Institute of the Serbian Academy of Science, Knez Mihailova 35/I,
11000 Beograd, Serbia

Email addresses: sstevic@ptt.yu; stevo@matf.bg.ac.yu